
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

GRAPHS 

L
in

ea
r 

G
ra

ph
s 

4 

gradient 

intercept 

3 

y = mx + c 

3 3 

 Parallel lines have 

the same gradient. 
y = -x + 5 

3 

 Perpendicular lines 

have gradients with 

a  product of -1.  

Quadratic Graphs 

y = ax2 + bx + c 

y = x2 

y = x2 – 3x - 2 

 Square 

numbers. 

 U shaped – 

parabola. 

Trigonometric Graphs 

 Sine Curve Cosine Curve 

 Tangent 

y = tanx 

y = cosx 
y = sinx 

C
ub

ic
 G

ra
ph

s 

y = x3  

 Cube 

numbers. 

R
ec

ip
ro

ca
l  

Y=3x+2 
Y=3x-4 Y = 4x + 3 

Y=3x+2 
 1  
x  

y =  


